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Stadtbezirk Kalk

WE BE 7 Fuche Baumart Aler auss. jeha imG.
107 F 11 2,68 RBu 87 25 10 77
2 053 SHE 152 40 10 5
3 0,18 HBu 87 22 10 2
4 018 Es 87 33 10 2
5 089 RBu 32 4 10 9
G 1 1 086 SE 152 43 10 9
2 067 HBu 117 25 10 7
3 0,19 BAh 52 12 10 2
4 019 RBu 16 0 0
5 RBu 172 3 10
2 1 037 HBu 62 15 10 4
2 0,10 FAh 62 15 10 1
3 0,10 BAh 62 16 10 1
4 010 RBu 62 16 10 1
3 1 018 RBu 102 29 10 2
H 11 2,60 SEi 152 40 10 26
2 1.03 HBu 117 28 10 10
3 052 RBu 132 34 10 5
4 026 BAh 48 11 10 3
5 026 WL 80 22 10 3
6 026 Fs 51 18 10 3
7 026 RBu 14 0 0
8 RBu 192 34 10
2 1 0358 HBu 42 8 10 6
2 011 Bi 82 M4 10 1
3 011 SHE 142 37 10 1
4 011 REi 48 19 10 1
5 005 VKir 42 8 10 1
6 0,05 WLi 42 8 10 1
7 005 solb 42 10 1
3 1 077 Es 51T 13 10 8

2 0.04 BAh 37 14 10
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